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Calculating the integrals, we obtain to order o(ǫ2),
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For w(t) = wT (t), we obtain ∆(i) = 0, i = 0, 1, and the theorem follows. ⊓⊔

Proposition 9.3.4 is proved by applying Theorem 9.A.1 to the equa-
tion (9.30). To compute v(t)2, conditioning on z(t) and using conditional
independence of X0(t) and z(t) we obtain,

E
(
(X0(t) − x0)

2
z(t)

)
= E

(
z(t)E

(
(X0(t) − x0)

2
∣∣∣ z(·)

))
(9.99)

= E

(
z(t)

∫
t

0

z(s)λ(s)2 ds

)

=

∫
t

0

λ(s)2E (z(t)z(s)) ds.

Clearly


